
Ã|ÀÀ¯�¾Ì»Ze�\¿Zm��Y�¾Ì»Ze�¶]Z«�ÊÀ§�cZ�z�» ��f¼Ì¸Ì»���ZÌ¿�{�Â»�ÊÀ§�cZ�z�»�Á�{Z ]Y ÓZ¯�s�� ÓZ¯�|¯ |Ë�y�d�YÂy�{ ¦Ë{�
DIN-125-Form B 17x30x3-Borss����̶ΟϧέΑ�ΕΧΗέη΍ϭ 216204 D020781 1

DIN-125 10.5x20x2 , Bross����̶ΟϧέΑ�ΕΧΗέη΍ϭ 216205 D020781 2

SKi:Nr.D-934  T:1 M12   - Tap changer����̶ΟϧέΑ�ϩέϬϣ 214513 D020779 3

ski:Nr.D-936 T:1 M8(P)Tap changer����̶ΟϧέΑ�ϩέϬϣ 214512 D020779 4

DIN-933 M16X40-Bross����̶ΟϧέΑ�εϭ̳�εη�̨ϳ̡ 211116 ZD0221108/0 5

DIN-933 M12x25-Bross����̶ΟϧέΑ�εϭ̳�εη�̨ϳ̡ 211335 ZD0221108/0 6

DIN-933 M8x14-Bross����̶ΟϧέΑ�εϭ̳�εη�̨ϳ̡ 211336 ZD0221108/0 7

DIN-933 M12x20-Bross����̶ΟϧέΑ�εϭ̳�εη�̨ϳ̡ 211338 ZD0221108/0 8

DIN-933 M12x14-Bross����̶ΟϧέΑ�εϭ̳�εη�̨ϳ̡ 211339 ZD0221108/0 9

DIN-933 M16x30-Bross����̶ΟϧέΑ�εϭ̳�εη�̨ϳ̡ 211342 ZD0221108/0 10

DIN-933 M10X15 , Bross����̶ΟϧέΑ�εϭ̳�εη�̨ϳ̡ 211356 ZD0221108/0 11

{{�³�|Ì«��Â¯~»�ÉZÅ�Ä³�]��{�ÃZ´�Á�§�
�d¯���½M���Âe�¶ËÂve�¶]Z«�ªÌ«{�½Z»��c�Â�ÀËY��Ì£��{�|¿{�³�¶ËÂve�Ã|���¯}�½Z»���{�©Â§�¹Ô«Y�d�Y�¹�Ó�,��Z°¿Z¼Ìa�[Zzf¿Y��{�¹Ô«Y�¶ËÂve�½Z»��dÌ¼ÅY�Ä]�dËZÀ��Z]

Â· Ã�¼u ¹�¯Y    Ã|ÀÀ¯ ºÌ�Àe xË�Ze Ze ¹Ô f�Y �Z^f�Y d¸Æ»�Á�§ µÂX�» �Ë|» Z�»Y Á �Æ» |�Z] Ê» ����
��
��

{Â� Ã{Y{�Y�« (¦·Y) d¯Za �{

(¦·Y) ZÆ] ¹Ô f�Y ±�]
 �  ¹Ô f�Y Ã�Z¼�

 �xË�Ze����
��
��

389½Z´¿� �Ë�Âe �ÂeZ»�Â¨�¿Y�e d¯�� 
(¹Z� Ê»ZÆ�)


